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These are appendices to the report “Joint 1-D inversion of TEM and MT data from Olkaria Domes
geothermal area, Kenya” by Charles Muturia Lichoro at the UNU Geothermal Training Programme in
2009. Appendix I shows the TEM profiles from the Olkaria Domes area and Occam inversion of the
resistivity data. Appendix II shows the TEM and MT resistivity data from the Olkaria Domes area
and 1-D joint inversion of the MT and TEM profiles and the corresponding model curves. Appendix
IIT contains additional iso-resistivity maps from the Olkaria Domes area to ones shown in the main
report. Appendix IV, finally, shows additional resistivity cross-sections from the Olkaria Domes area
and their locations.



Report 16, appendices

Wiinam {m

Wiinam {m

104

107

107

1

104

107 4

107

1

APPENDIX I: TEM profiles from the Olkaria Domes area

and Occam inversion of the resistivity data
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APPENDIX II: TEM and MT resistivity data from the Olkaria Domes area
and 1-D joint inversion of the MT and TEM profiles

10%

Resistivity pge £2M
=

an
w75
—. B0
o
O 45
230
[ny]

i
0 15

102

RHesistivity pgg 2mM
=)

a0
275
— 80
o

0 45
2350
[y]

g 15

dmt03

¥=1.7555

Shift=1.45 [

IIIII T IIIIII| T IIIIIIII IIII| T IIIIIIII T
1073 102 107 107 107
IIIII Ll IIIIII| L IIIIIIII L IIIIIII| L IIIIIIII L
103 102 107! 10° 107
Period, s
¥=0.99583
L IIIIIIII L IIIIIM L Illlld L IIIIIM L L LLLl
{te Shift=1.53 |

s LALLL! B R L B | -‘“ URLBLELLL B S R L) N B R RILL B "
1073 102 10! 1 10 10
ERTIT| EEEEER AT EENECEATIT B SRR RTTT BT RTIT B AR AT M
__'l'|'|'|'|'|'l'| LRSI RLLE N NI BN I R R LLL) B B R AL B |||||I'I'|_|'_
1073 102 10! 1P 10 10

Period, s

Depth, km

1072

107!

10°

10

1072

10

10"

10! 102
RHesistivity, 2m

10

100

10%

T LI III T
10!
Resistivity, m



Report 16, appendices 9
4=5.0267
103 ||||| 1 IIIIIIII L |||||||| Ll IIIIIII L |||||||| L IIIIIIII
e Jagmzs Shift=1.49 [
5 ] [
““'j - H
E 102 s B
= E g
=] F
= ] [
7z i |
o 10" 3 3
-Illll T IIIIIIII T |||||||| LI IIIIIII T |||||||| T IIIIIIII r
1073 102 1071 100 10! 10
90 _||||| L IIIIIIII 1 |||||||| Ll IIIIIII L |||||||| L IIIIIIII i
75 -
s i L
—. B0 -
o] ] [
S 45 -
L 30 _
o] i
o 15 -
O ||||| T IIIIIIII T |||||||| T IIIIIII T |||||||| T IIIIIIII
4103 102 107! 100 10! 102
Period, s
¥=3.8044
.3 ||||||II Ll 1 LIl L ||||||I| L |||||||| L ||||||I| L IIIIIIII L
e 0 Afe Shif1=0.653 |
o 3 -
5 ] [
i d i
L=
= 102 = =
= ] E
" ] [
% T o . [
8 i m |
101 |||||||| 1 ||||||I| T ||||||I| i) | T ||||||I| T |||||||I T
102 102 100! 1¢P 10! 10E
90 ||||||II 1 ||||||I| L ||||||I| L |||||||| L ||||||I| L IIIIIIII 1
275 -
— i L
—= 50 ¥ =
o ] [
S 45 -
L 30 -
m ] [
o 15 -
D ||||||II T ||||||I| T ||||||I| T |||||||| T ||||||I| T IIIIIIII T
1078 102 10! 10P 10 10F

Period, s

1072

10

Depth, km

107

10!

10!

Lichoro

Ll LLLlll L IIIIIIII L L LLLLL Ll LLLLL
LI IIIIII| LI IIIIIII T IIIIIII| LU
107 10 102 10° 10
Resistivity, £2m
Ll LLLlll L IIIIIIII L L LLLLL Ll L L1l
’ T IIIIIII| T IIIIIIII T IIIIIII| T IIIIII-
LS o L [0 U SR (1

Resistivity, £2m



Lichoro 10 Report 16, appendices

dmtQO7/

¥=1.5319
_IIII L IIIIIIII L IIIIIII| L IIIIIIII L IIIIIIII L IIIIIIII I_ L L IIIIIII L L IIIIIII L Ll L LIl
c ] pINo7 Shift=1.01 [ ] C
o ] [ 10—2 = =
AT . - ] L
-
Q- - -
-E-" 102 = — - L
= ] : ] i
] ; RN s
% : : 10 1 =
- T T i - E ] i
IIIII T IIIIIIII T IIIIIII| IIII T IIIIIIII T IIIIIIII T i- : :
102 102 10-1 100 10! 107 %_ ] r
IIIII L IIIIIIII L IIIIIII| L IIIIIIII L IIIIIIII L IIIIIIII L : :
a0 . i 8 100 = =
275 - ] i
] i |
—. B0 [ . B
[ ] [ 1 -
£.45 7 - ] :
g 30 b i 101 - ==
oy ] [ i i
x 15 - ] i
O _IIIII T IIIIIIII T IIIIIII| T IIIIIIII T IIIIIIII T IIIIIIII I_ i T T IIIIIII T T IIIIIII T T IIIIII_
102 102 107! 100 10! 107 100 10! 102 10
Period, s Resistivity, £2m
¥=1.0736
IIIIIIII L IIIIIIII L IIIIIII| L IIIIIII| L IIIIIII| L IIIIIIII Ll L L Ll IIIII L L Ll L LIl
J4ami0 Shift=0.656 | ] C
E 14 | -10—2 E =
3 ] :
o 102 5 = o B
& ] i ] -
= ] [ 5 -
5 g I o= :
z d L 10t 3 2
IIIIIIII T IIIIIIII T IIIIIII| | T IIIIIII| 1 IIIIIIII LI i- : :
103 10® 107! 100 10! 108 _1CEL h u
IIIIIIII L IIIIIIII L IIIIIII| L IIIIIII| L IIIIIII| L IIIIIIII Ll 3 C
ag ] i 8 100 = =2
275 - ] g
_O - -
—= B0 = B ] i
0 45 - 5 :
D oo ] i 101 =~
g i ] I
x 15 - ] [
O -IIIIIIII T IIIIIIII T IIIIIII| T IIIIIII| T IIIIIII| T IIIIIIII T II- ’ T T T IIIII T T T IIII-
10r* 102 107! 10° 10! 108 109 10 10%

Period, 8 Resistivity, 2m



Report 16, appendices 11 Lichoro

dmt09

¥=2.2179
r -_. L L IIIIIII L L IIIIIII L L IIIIIII L IIIIIIII L Ll % Ll LLLlll L IIIIIIII L L LLLLL I.IIIIII
e ] g7 Shift=0.763 | ] :
£l - L 1072 -
g - i
e
o | I
2102 o E -
= ] : ] [
2 s | ] :
D 1 - 10-1 3 =
[ . =
IIIII T T IIIIIII T T IIIIIII IIIII T IIIIIIII T LI i- 5 |
HER A A0 100 101 = : -
90 IIIII L L IIIIIII L L IIIIIII L L IIIIIII L IIIIIIII L Ll % - -
] ] ] -
8’75 - - z :
i i 109 =
B ] i ] i
045 7 5 ] i
2 30 - ] i
T ] ! ] -
O IIIII T T IIIIIII T T IIIIIII T T IIIIIII T IIIIIIII T LI T IIIIIII| T IIIIIIII T IIIIIII| LU
103 102 101 100 10! 100 10! 102 103 104
Period, s Resistivity, £2m
¥=3.9673
IIIIIIII Ll L LIl L IIIIIII| L IIIIIII| L IIIIIII| L IIIIIIII L L L IIIIIII L L IIIIIII L Ll L LIl
c 1 tehy; 1 Shift=0.985 | 7] -
G ] 102 ] 3
2 i i
E el T B
102 =
_-E-' 3 E - -
= . : 1 -
I ] i ] -
'g i I ] i
c o - 1071 3 —
101 IIIIIIII 1 IIIIIII| T IIIIIII| . IIII| T IIIIIII| T IIIIIIII T i- 3 |
103 102 10! 100 10 102 = i |
gD IIIIIIII L IIIIIII| L IIIIIII| L IIIIIII| L IIIIIII| L IIIIIIII L % i =
] [ O . [
275 - ] s
_O_ 55 E : 109 b
0,45 - ' g
2 30 g ] [
o ] [ 1 -
x 15 - ] g
< L 101 = =il
O IIIIIIII T IIIIIII| T IIIIIII| T IIIIIII| T IIIIIII| T IIIIIIII T T T IIIIIII T T IIIIIII T LR
102 102 10! 10 10 102 10 10! 102 10F

Period, 8 Resistivity, 2m



Lichoro 12 Report 16, appendices

dmti1

¥=1.717
cd el ol el ol sl Lol Ll Ll
& tems59 Shif1=0.832 | ] :
o = 1072 3 B
& 102
o 4 -
= ] -
= ] I
= L -
tn ] F
% 101 4 =
BE;
E 1 E
101 LALLL BN L3 B L) B L B L L) O N L) B —‘f_ 4] B
e @2 At 1Y oph qee = ] E
an _||||| conl ol el ol 1l ||_ §— E E
e 3 - 100 3 3
75 —
R i
— B0 - ] i
T ] F ] .
O 45 4 B ] [
D gy ] . ] 2
% 30 1 i 101 pl =
T 15 ] - ] i
0 _||||| LBLLLELLL) A L BN N L) B L LR ALLY) N L L) B ||_ T T T T T T T T Irmr
10% 10® 10! 107 10! 102 10° 107 102 10
Period, s Resistivity, £2m
x=4.1497
n |||| el el el el ol -2 e ol oy d L
& ] t8ip66 Shift=1.98 | L
a1 - [ 1 -
i ] |
e 107 5 3 1 B
¥on 3 C ] :
= ] [ ] C
E i | 10—1 £ -
& 100 =
T 3 = 1 I
LIS B 3L I LY B 1L B AL BB R R —‘i_ B -
0% A02 H e 0 A S ] [
an _|||||||| pvnl ol el el ol |_ § E E
D75 E 107 B
= ] B
—. B0 " [ b
045 5 i [
D a0 ] ¥ ] [
@ ] [ : :
T 15 - - 10 B
0 -|||||||| LI L) B LY B B L LR LI R R LY | |- LEALL LI EALL LB R R LLL B R UL B LI
10°2 102 10! 107 10" 10 0% 100 102 10f 0% 10¢

Period, 8 Resistivity, 2m



Report 16, appendices 13

—
[ ]
[

10

Hesistivity pge M

dmti16

%=1.5044

{tem25 Shif1=0.939

Depth, km

1032 102 10! 1° 10 10°

IIIIIIII T IIIIII| T IIIIIII LI IIIIIII T IIIIIII T IIIIIII
12 102 A 1 10 102
Period, 8

dmti17/

+=1.9667

Shift=1.69

1072 102 10 10°

IIIII T T IIIIII| T T IIIIIII T T IIIIII| T T
1072 1002 1071 100
Peariod, s

Depth, km

1072

10

107

10!

102

—k
=

Lichoro

L L L IIIIII L L Ll L L]
T T T IIIII.I T T T TTTrT
100 10 10%
Resistivity, £2m
L L L IIIIII L L Ll L L1l
T T T IIIIII T T LA
109 10 104

RHesistivity, £2m



Lichoro

Hesistivity pge 22mM

Hesistivity pge M

Loy
1
[

&
[}
(2]

14

dmt20

¥=1.4931

Jtemi3 Shitt=0.267 |

1078 1072 i 10° 10!

IIIII T T IIIII| T T IIIIIII T T IIIIII T T IIIIII|
1073 152 oy 1P 10!
Period, s

dmt24

4=2.7455

temi12 Shift=0.486 |

:'I_Ellllll

1032 102 10! 1°

IIIIIIII T IIIIIIII T IIIIIII| T IIIIIIII T LI
103 102 10! 1P
Peariod, s

1072

107

102

Report 16, appendices

L L L IIIIII L L Ll L LIl
] T T T II-IIII T T IIIIII_
10 102 10
Resistivity, Qm
L L L IIIIII L L Ll L L1l
: T T T IIIIII T T IIIIII:
10° 10 10%

Hesistivity, £m



Report 16, appendices

—
1
(2]

—
=

—
L]
[=]

107

Resistivity pge M

102

Fesistivity pge 22mM

10!

a0
=75
—= B0
o

O 45
2 30
[n]

e
0 13

[

]

15
¥=1.7524
L IIIIIII Ll L LIl Lol IIIIII| L IIIIIII| Lol IIIIII| L IIIIIIII L
R shift=1.4 |
B s
T IIIIIII T IIIIIII| T IIIIII| T IIIIIII| T IIIIII| I"I‘ IIIIIIII T E
1073 102 10! 100 10! 10
L IIIIIII L IIIIIII| Lol IIIIII| L IIIIIII| Lol IIIIII| L IIIIIIII L
E ¢ 3
-I IIIIIII T IIIIIII| T IIIIII| T IIIIIII| T IIIIII| T IIIIIIII T [
100 402 40! 1F 10 10
Period, 8
¥=3.3344
IIIIIIII L IIIIIIII L IIIIIII| L IIIIIII| L IIIIIII| L IIIIIIII Lll
itam64 Shift=1.7 |

Period, s

T IIIIIII T IIIIIII T IIIIIII| LI IIIIII| LI IIIIII| LI IIIIIII LI
S Tva N v [t [ SRS [+ LI 11 -

L IIIIIII Ll IIIIIII L IIIIIII| Ll IIIIII| Ll IIIIII| Ll IIIIIII Ll

T IIIIIII T IIIIIII T IIIIIII| LI IIIIII| LI IIIIII| LI IIIIIII LI
1% 102 10t 1P 100 AR

Depth, km

1072

101

107

10!

1072

10!

Lichoro

L L IIIIIII L L IIIIIII L Ll L LIl
T T IIIIIII T T IIIIIII T LU
100 107 10° 10
Resistivity, £2m
Ll LLLlll Ll IIIIIII L L LLLLL Ll L1l
’ T IIIIII| LI IIIIIII T IIIIIII| T TTTIT
00 100 102 108 10

Resistivity, £2m



Lichoro

—
[ ]
(&)

10

Resistivity pge 22mM

102

Fesistivity pge 22mM

10!

a0
=75
—= B0
o

O 45
2 30
[n]

e
0 13

[

16

dmt33

¥=1.6232

e m23

Shift=1.02

_I T IIIII| T T IIIIIII T T IIIIIII T T IIIIIII T T J
103 102 10! 100
L IIIIII| L L IIIIIII L L IIIIIII L L IIIIIII L L
T IIIIII| T T IIIIIII T T IIIIIII T T IIIIIII T T
1003 102 10! 1#
Period, 8
¥=1.8377
IIIIIIII Ll LLLLLL L IIIIIIII L IIIIIIII L IIIIIIII L IIIIIIII
Shitt=0.619 |

102

102

10!

1P

10

102

1073

102

T IIIIIII LI IIIIIII
107! 1
Period, s

10

102

1072

100

10!

Report 16, appendices

L L L IIIIII L L Ll L L]
T T T IIIIII T T LA
100 10 104
Resistivity, £2m
L L L IIIIII L L Ll L LIl
’ 1 T 1 IIIIII 1 T 1 IIIII-
100 10 10%

Resistivity, £2m



Report 16, appendices

—
[ ]
(&)

10

Resistivity pge 22mM

—
[ ]
]

Fesistivity pge 22mM

10!

a0
=75
—= B0
o

O 45
2 30
[n]

e
0 13

[

17

dmt37

%=2.7829

am23

Shift=1.11

T l-||||||

L T IIIIIII T T IIIIIII T LRI} II| T T IIIIIII T T IIII_
1073 102 107! 10
L IIIIIII L L IIIIIII L L IIIIII| L L IIIIIII L Ll L Ll
T IIIIIII T T IIIIIII T T IIIIII| T T IIIIIII T LI
1073 102 10! 17
Period, 8
¥=1.5005
IIIII Ll IIIIIII Ll IIIIIII Ll IIIIIII L IIIIIIII L Ll
{1emo7 Shit=0.885 |

1073

102

10~ 107 107

103

102

1 IIIIIIII 1 IIIIIIII 1 IIIIIIII LI
107! 100 100
Period, s

Depth, km

Diapth, km

1072

101

107

10!

—
=
[

10

107

10!

Lichoro

L L IIIIIII L L IIIIIII L Ll L LIl
T T IIIIIII T T IIIIIII T LU
100 107 10° 10
Resistivity, £2m
L L IIIIIII L L IIIIIII L Ll L LIl
’ T IIIIIII 1 IIIIIIII 1 LILLLLLL
100 107 10% 10

Resistivity, £2m



Lichoro

—
[}
[

Resistivity pge 22mM

10!

Hesistivity pge M
=

10

18
+=1.3061
IIIIIIII Lol LLLLLL L IIIIIIII L IIIIIIII Ll IIIIIII Ll IIIIIII
Jaemso Shift=1.31 |

:IIIIIIII T IIIIIII| T IIIIIIII T IIIIIIII T IIIIIII T IIIIIII:
1073 102 107! 100 10! 102
IIIIIIII Ll IIIIII| Ll IIIIIII Ll IIIIIII Ll IIIIIII Ll IIIIIII
IIIIIIII T IIIIII| T IIIIIII T IIIIIII T IIIIIII T IIIIIII
12 102 Ao 1 10 102
Period, 8
¥=2.3474
IIIIIIII Ll LLLLLL Ll IIIIIII Ll IIIIIII Ll IIIIIII Ll IIIIIII
Shiit=0.952 |

LR | BRI | T LELRRERLL B R R
103 102 10! 1° 10 102

ol EERETIT AR R poonl oyl

LR | LRIl B R | T LELRRLRLL B R R |
103 102 10! 1° 100 102

Peariod, s

1072

102

10!

Report 16, appendices

L L IIIIIII L L IIIIIII L Ll L LIl
T T T IIIIIII T T IIIIIII T T IIIIII_
100 107 10° 10
Resistivity, £2m
L L Ll IIIII L L Ll L L1l
] T T LI IIIII T T LA
109 10 104

Hesistivity, £m



Report 16, appendices 19

&
[}
(2]

Fesistivity pge 22mM

10!

a0
=75
—= B0
o

O 45
2 30
[n]

e
0 13

[

dmit43

#=1.027

Shift=1.05 |

102 1072 10 107 10 107

T IIIIIIII T IIIIIIII T IIIIIIII T IIIIIIII T IIIIIIII
103 102 10 10? 10! 102
Period, 8
¥=2.3374
L IIIIII| L IIIIIIII L IIIIIIII L L IIIIIII L L
{sem3o Shift=0.91 |
] I -
T IIIIII| T IIIIIIII T IIIIIIII 1 1 IIIIIII T T
1073 1072 10! 100
L IIIIII| L IIIIIIII L IIIIIIII L L IIIIIII L L

T IIIIII| T 1 IIIIIII T 1 IIIIIII 1 1 IIIIIII 1 T
1078 102 10! 1
Period, s

Depth, km

Diapth, km

1072

101

107

10!

1072

10

107

10!

Lichoro

T T T III T T LA
10 104
Resistivity, £2m

&
L]
[=]

T IIIIIII T IIIIIIII 1 LILLLLLL
108 10 102 10¢
Resistivity, £2m



Lichoro

107

Resistivity pge 22mM

10

Fesistivity pge 22mM
=

10

a0
=75
—= B0
o

O 45
2 30
[n]

e
0 13

[

dmt50

%=1.7674

20

[ tem62

Shitt=0.4

93 I

T IIIIIII T T IIIIIII T T IIIIII| T T IIIIIII T LI
1073 102 107! 10
L IIIIIII L L IIIIIII L L IIIIII| L L IIIIIII L Ll L Ll
T IIIIIII T T IIIIIII T T IIIIII| T T IIIIIII T LI
1073 102 10! 17
Period, 8
¥=1.2839
L IIIIIII Ll L LIl Ll IIIIII| L IIIIIII| Ll IIIIII| L IIIIIIII L
LtamG2 Shitt=1.07 |

1072

10!

1P

102

10"

10¢

1073

T IIIIIII| T IIIIIII|
10! 1P
Period, s

1072

10!

10

Diapth, km

1072

10!

1072

10

107

10!

Report 16, appendices

107

T T IIIIIII
107 10°
Resistivity, £2m

10

.
L]
[=]

107

T LU III 1
10
Resistivity, £2m



Report 16, appendices 21 Lichoro

dmt58

¥=1.8202

Shift=1.8

1072

—
L]
[

10!

101

Resistivity pge 22mM
Ll II|

Depth, km

e =2 i mn g L.
TTTT T T T T T T oo T ETTTTT L

1072 1072 10 10°
gD IIIII L L IIIIII| L IIIIIIII L IIIIIII| L L

107

10!

D IIIII T T IIIIII| T T IIIIIII T T IIIIII| T T T IIIIIII T IIIIIIII T LI
1072 1072 10~ 108 10° 101 102 10
Period, s Resistivity, £2m

dmte3

¥=2.2649

hift=1.15 |

1072

—
[ ]
(]

10

Hesistivity pge M

Depth, km

10" 4

1073 1072 10! 107 107 1F

90 pul ERT| Ll col gl ERET| 1

107

10!

D
P
wi
NI I A I B B

O IIIII T IIIIIIII T IIIIIII| T IIIIIIII T IIIIIIII T IIIIIIII T T IIIIIII T T IIIIIII T LI
1073 1072 10! 107 107 1F 100 107 107 10
Period, s Hesistivity, £2m



Lichoro

Hesistivity pge 2mM
=)

RHesistivity pye £2M
=

22

dmt72

+=1.5311

Jtemi7 Shitt=0.696

S Lon R To s [Vl S T2 10! 107
IIIIIIII L IIIIIIII L IIIIIII| L IIIIIII| L IIIIIII| L IIIIIIII LLl
_IIIIIIII T IIIIIIII T IIIIIII| T IIIIIII| T IIIIIII| T IIIIIIII T II_
10 102 10! 100 10! 107
Period, s
y=1.8481
IIIII Ll IIIIIII L IIIIIIII Ll IIIIII| Ll LLll II Ll IIIIIII L
Jtemi3 Shift=0.792 |

o

M |

103

1072

10!

1

10

107

1073

1072

T IIIIIIII T IIIIIII|
10! 109
Peariod, s

10

1

Depth, km

Depth, km

102

107

17

10!

1072

107!

—
L]
[=)

10!

Report 16, appendices

T T LI ) III T
10 102
Resistivity, £m

.
(e}
[=]

10

T T IIIIII T LI IIII|
10! 102
Resistivity, £2m

107



Report 16, appendices 23 Lichoro

dmt77

¥=3.3396

4 temo4 Shift=0.546
B B
N 10—2

&
[}
(2]

gl

T T

L

T

Hesistivity pge 2mM

—
=
ul
[rrrrrT

E
s

1078 1072 107" 100 1t s y
90 L IIIIIII L IIIIIII| L IIIIIII| L IIIIIII| L IIIIIIII %
O

107

ase (Det

P

i
II|II|II|II|II|II

O T IIIIIII T IIIIIII| T IIIIIII| T IIIIIII| T IIIIIIII T T T IIIIII T T LI
1073 1072 107! 10° 10! 100 10 10%
Period, s Resistivity, £2m

dmt/8

4= 4533

{tetni0 Shift=1.09 |

—
[}
[

RHesistivity pge 22mM

107

101 T 1T LR

10°% 102 10! 107 10!
90 Ll Ll Ll Ll ol

Depth, km

107

D
P
i
'ENEN I A B B A

10!

D 1 IIIIIII T IIIIIII| T IIIIIII| 1 IIIIIII| T IIIIIIII 1 T IIIIII 1 T LI
1073 1072 10! 100 10 10 102
Period, s Resistivity, £2m

.
L]
[=]



Lichoro

&
[}
(3]

Resistivity pge 22mM

10

10%

Hesistivity pge M
=

10!

24

dmt/9

#=2.454

Shitt=0.529

1073

T IIIIII| T T IIIIIII T T IIIIIII T T IIIIII|
1072 10 10P 10!
L IIIIII| L L IIIIIII L L IIIIIII L L IIIIII|
T IIIIII| T T IIIIIII T T IIIIIII T T IIIIII|
10-2 10! 107 10!
Period, 8
¥=2.6338
IIIII Ll L IIIIII Ll IIIII| Ll IIIIIII Ll IIIIIII Ll IIIIIII L
gem28 Shitt=0.496

1072

107

10

107

10!

1073

1072

T IIIIIII| T IIIIIIII
10! 109
Peariod, s

107

10

Depth, km

Depth, km

1072

101

107

10!

1072

10

100

10!

Report 16, appendices

Ll LLLILl L IIIIIIII Lol LLLLL Lol L LLLL
T IIIIII| T IIIIIIII T IIIIIII| LELBLLLLL
00 100 102 107 10
Resistivity, £2m
vd ool il o
| |
10° 100 402 10 10% 10f

Hesistivity, Qm



Report 16, appendices

—
[ ]
(&)

10

Resistivity pge 22mM

—
[}
[

RHesistivity pge 22mM

10

dmt82

%=1.9458

25

am23

Shift=0.94

1072
] +¢§
= = 10_1
] F E
IIIIIIII T IIIIIIII L i-
1072 1072 107! 10e =
IIIIIIII L IIIIIIII L IIIIIII| L IIIIIIII Lol L Ll %
] ]
: E
] [ 101
IIIIIIII T IIIIIIII T IIIIIII| T IIIIIIII L
1073 102 10! 17
Period, 8
¥=1.5206
IIIII IIIIIIIII IIIIIIII| IIIIIIIII IIIIIIIII IIIIIIIII L
1samo4 Shiit=0.413 |
1072
107
E
IIII| IIIIIIII| IIIIIIII| IIIII| IIIIIIII| IIIIIIII| T x_
10 402 10! 10° 10 1 =
IIIII IIIIIIIII IIIIIIII| IIIIIIIII IIIIIIIII IIIIIIIII L %
] ]
: F
IIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| 1
10% 102 g 100 10 107

Period, s

Lichoro

T T T III T
10
Resistivity, £2m

107

&
L]
[=]

10

T IIIIIII T IIIIIIII
107 107
Resistivity, £m

107



Lichoro 26 Report 16, appendices

dmt85

#=1.6689

tem23 Shift=1.

=y

1072

&
[}
(2]
L
T

10

Resistivity pge M
=

Depth, km

10-2 102 10! 107 10" 10
90 sl ol el el il

107

10!

]
Pa
[#]
I AT BN B B

D T IIIIII| 1 IIIIIII| T IIIIII| T IIIIIII| T IIIIII|
10 102 ot P 10 107 107 10 10#
Period, s RHesistivity, £2m

dmt89

¥=1.2381

{rem25 Shift=1.59 |

102

—
[ ]
(]

10

Hesistivity pge 2mM

107

1072 102 10! 107 10" 107

an el el

Depth, km

T 75
—= 50
o
O 45
2 30
[an}

e
0 13

17

10!

T IIIIIII T IIIIIII| T IIIIII| T IIIIIII| T IIIIII| T IIIIIIII T T T LI IIIII T T LI
1073 1072 10! 1P 10" 10¢ 10 10%
Period, s Resistivity, £2m

(]
.
(e}
[=]



Report 16, appendices 27

10%

Resistivity pge 22mM
=

10

—
[ ]
[

10

Hesistivity pge M

dmt91

%=5.0267

-] Shit=0.182

10°2 10°2 10 107

IIII| T T IIIIII| T T IIIIIII T T IIIIIII
10-3 102 10! 10?
Period, 8

dmt93

¥=1.2528

1emO7 Shift=2.08

1073 1072 10! 107 107 1F

IIIII T IIIIIII T IIIIIII| LI IIIIIII LI IIIIIII T IIIIIII T
1073 102 10! 109 10 10
Peariod, s

Depth, km

1072

101

107

10!

1072

10!

Lichoro

Ll LLLILl L IIIIIIII Lol LLLLL Lol L LLLL
T IIIIII| T IIIIIIII T IIIIIII| LELBLLLLL
00 100 102 107 10
Resistivity, £2m
L L Ll Ll III L L Ll L L1l
i T T T III T T LA i
109 10 104

Hesistivity, £m



Lichoro

Hesistivity pge M
=

10!

28

dmt95

%=1.0833

Shift=1.05

T IIIIII| T IIIIIII LI IIIIIII T IIIIIII T IIIIII| T
103 10% 107! 100 10! 102
Ll IIIIII| Ll IIIIIII Ll IIIIIII Ll IIIIIII Ll IIIIII| L
T IIIIII| T IIIIIII LI IIIIIII T IIIIIII T IIIIII| T
103 102 107 107 10 102
Period, 8
¥=1.508
L IIIIIII Ll L LIl Ll IIIIII| L IIIIIII| Ll IIIIII| L IIIIIII L
LtamG3 Shiit=0.752 |

10-2

102

10!

1P

10"

10°

10°2

102

T IIIIII| T IIIIII|
100! 1P
Peariod, s

10"

107

Depth, km

Depth, km

1072

101

107

10!

1072

10

107

10!

Report 16, appendices

L L L IIIIII L L Ll L LIl
i T T T IIIIII T T T IIIII_
100 10 104
Resistivity, £2m
L L L IIIIII L L Ll L LIl
T T T IIIIII T T LA
109 10 104

Hesistivity, £m



Report 16, appendices

10%

Resistivity pge 22mM
=

Hesistivity pge M
=

29
%=2.1798
IIIII L L IIIIII| Il L IIIIIII Il L IIIIII| L L
Jegmii Shiti=1 F
| E
IIIII T T IIIIII| T T IIIIIII T T IIIIII| T T i-
1073 1072 10 100 =
IIIII L Il IIIIII| Il L IIIIIII Il L IIIIII| L L %
X [ O
IIIII T T IIIIII| T T IIIIIII T T IIIIII| T T
1073 1002 1071 100
Period, 8
%=4.9099
r A L IIIIIIII L IIIIIII| L IIIIIIII L IIIIIIII IIIIIIIII I_
{827 Shift=0.511 |
- i =
IIII| U IIIIIII| U IIIIIII| T II| T IIIIIII| IIIIIIII| T i_
108 102 ot 100 10t 1 £
IIIII L IIIIIIII L IIIIIII| 1 IIIIIIII 1 IIIIIIII IIIIIIIII 1 %
] [ O
IIIII T IIIIIIII T IIIIIII| T IIIIIIII T IIIIIIII IIIIIIIII T
L 1 [ [ D s

Peariod, s

1072

101

107

10!

102

10

10°

10!

Lichoro

Ll LLLILl L IIIIIIII Lol LLLLL Lol L LLLL
i T IIIIII| T IIIIIIII T IIIIIII| T IIIIII_
00 100 102 107 10
Resistivity, £2m
Ll LLLIll L IIIIIIII L L LLLLL Ll L1l
T IIIIII| T IIIIIIII T IIIIIII| LELBLLLLL
109 10 102 10° 104

Hesistivity, £m



Lichoro

—
[ ]
(]

Resistivity pge 22mM

102

Hesistivity pge M

10!

dmti142

E IIIII T IIIIII T IIIIII| LI IIIIIII LI IIIIIII LI IIIIIII T 3
102 102 107! 100 10! 107
IIIII Lol IIIIIII L IIIIIII| Ll IIIIIII Ll IIIIIII Ll IIIIIII L
IIIII T IIIIIII T IIIIIII| LI IIIIIII LI IIIIIII T IIIIIII T
10F 402 g 109 10 108

Period, 8
¥=0.92619
L IIIIIII Ll L LIl Ll IIIIII| L IIIIIII| Ll IIIIII| L IIIIIIII L
Shift=1.05 |

AL | T ||||||| LLLL B B R R I R R R |
10-2 102 10! 107 10" 10
ol il el el il
-|||||||| LB L) B L) B N L R LR LI I R R RLLL | |-
10°2 102 10! 107 10" 10

Peariod, s

Depth, km

1072

10!

1072

10

100

10!

Report 16, appendices

L L Ll IIIII L L Ll L L]l
T T LI IIIII T T LA
100 10 104
Resistivity, £2m
L L Ll IIIII L L Ll L L1l
i T T LI IIIII T LA
109 10 104

Hesistivity, £m



Report 16, appendices 31

&
[}
(=]

10

Resistivity pge 22mM

—
[}
(2]

Hesistivity pge M

10

dmti147

%=1.9797
Il IIIIII| Il L IIIIIII L L IIIIIII L L IIIIIII L L
{1ame2 Shift=1.78 |
E O E
- s
1078 1072 10! 1P =
Il IIIIII| Il L IIIIIII Il L IIIIIII L L IIIIIII L Il Q
ai]
] [ O
T IIIIII| T T IIIIIII T T IIIIIII T T IIIIIII T T
1078 1072 107! 10°
Period, 8
%=1.0105
IIIIIII| Ll LLLLL L IIIIIIII L IIIIIIII L IIIIIIII L IIIIIIII Ll LLLLLL
{aemio Shift=1.53 |
3 F £
IIIIIII| U IIIIIII| U IIIIIII| U IIIIIII| T IIIIIII| T IIIIIII| T T T i_
10-% 102 w0t 10t 100 102 e £
IIIIIII| L IIIIIII| L IIIIIIII L IIIIIIII 1 IIIIIIII 1 IIIIIIII L L LIl %
1 [ O
IIIIIII| T IIIIIII| T IIIIIIII T IIIIIIII T IIIIIIII T IIIIIIII T TTTT
10°% 102 w0t 10t 10t 102 P

Peariod, s

1072

107

10!

102

10!

Lichoro

L L L IIIIII L L Ll L L]
T T T IIIIII T T LA
100 10 104
Resistivity, £2m
L L L IIIIII L L Ll L LIl
i T T T IIIIII T T T IIIII_
109 10 104

Hesistivity, £m



Lichoro

Resistivity pge 22mM
=

Hesistivity pge M
=

32
¥=1.7275
L IIIIIII Ll L LLL Ll IIIIII| L IIIIIII| Ll IIIIII| L IIIIIIII L
{teme7 Shift=1.00
i B

L

T IIIIIII T IIIIIII| T IIIIII| T II f .l-.l T IIIIII| T IIIIIIII T
1073 102 10! 100 10! 10
L IIIIIII L IIIIIII| Lol IIIIII| L IIIIIII| Lol IIIIII| L IIIIIIII L
-I IIIIIII T IIIIIII| T IIIIII| T IIIIIII| T IIIIII| T IIIIIIII T [
100 402 40! 1F 10 10
Period, 8
y=1.5686
IIIII Ll IIIIIII L IIIIIII| Ll IIIIIII L IIIIIII| Ll IIIIII| L Ll
tems? Shiit=0.472 |

LLLL R R L] B R EELY B ||| L L N L) B
0% 10% 10! 107 10! 102
pld el vl el el el
LLLL BN L) B N L) B LY BN L) B B L LLY B B
0% 102 10! 107 10! 102

Peariod, s

1072

10!

102

10

Depth, km

—
L]
[=)

10!

Report 16, appendices

L L IIIIIII L L IIIIIII L Ll L LIl
i T T IIIIIII T T IIIIIII T T IIIIII_
100 107 10° 10
Resistivity, £2m
L L Ll IIIII L L Ll L L1l
T T LI IIIII T T LA
10! 102 10F

Hesistivity, £m



Report 16, appendices 33 Lichoro

dmti187

#=2.079

||||||| Ll ETERTIT EE AR R T RN R T T B R R RTTT] E! 10—2 Ll Ll EEETIT EENER R RTIT Lol il

B66 Shitt=0.864 |

Resistivity pge 22mM
=

E
~
1072 102 10! 107 10" 10 fCEL
ai]
[}

gD IIIIIIII 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 IIIIIIII 1
] [ 100
B 75 -
= ] [ | i
—. B0 . = i -
0 45 - ] -
g 90 T :
= ] L
o1 ] N
D -I IIIIIII T IIIIIII| T IIIIIII| T IIIIIII| T IIIIIII| T IIIIIIII I- ’ IIIIIIII| T IIIIIIII T IIIIIII| T IIIIII-
0% 102 qo! 1P 10" 108 w1t 0 1pf
Period, s Resistivity, £2m
¥=1.8109
IIIII L IIIIIIII L IIIIIII| 1 IIIIIIII 1 IIIIIIII 1 IIIIIIII 1 10—2 L L IIIIIII 1 IIIIIIII 1 L LllLl
c Jtemb7 Shift=0.703 |
5 %%, | i
107 3 ] s
o ] [ i |-
= ] [ ] B
R i ] -
% ] [ 1071 3 =
25 101 - 3
- 3 : | e ]
IIIII T IIIIIIII T IIIIIII| T IIIIIIII T IIIIIIII T IIIIIIII T i- | |
0% 102 {0t 109 10! 108 = | K
gD IIIII 1 IIIIIIII 1 IIIIIII| L IIIIIIII L IIIIIIII L IIIIIIII L % - -
———— [ O ] :
g ¥5 _: :_ 100 ] il
—= B0 ] ~
T ] r i
045 - ] |
© 30 = 1 -
o ] i ] :
o 15 7 E g
O -IIIII T IIIIIIII T IIIIIII| T IIIIIIII T IIIIIIII T IIIIIIII I- 7 T T IIIIIII T IIIIIIII T IIIIIII_
0% 102 {0 100 10! 1 10 10! 102 10

Period, 8 Resistivity, 2m



Lichoro

Resistivity pge 22mM
=)

10!

&
[}
(3]

Hesistivity pge M

10!

34
+=0.89553
IIII| L L1 IIIIII Ll IIIII| Ll IIIIIII L Ll IIIII| Ll IIIIII
Jaeme? Shif1=0.622 |

-||||| T T 7 T T T I T ||||||||-_
102 1072 10! 107 10! 17
i el ol ol ol el

IIII| T IIIIIII LI IIIIII| T IIIIIII T T IIIIII| T IIIIIII
103 102 1071 100 10! 108
Period, 8

dmt192

+=1.4679

 tem59 Shift=1.19 |

T LBLRRRLLL | T T oo | T
1073 1072 10! 107 107 1F
pul ERT| Ll col gl ERET| 1

IIIII T IIIIIII T IIIIIII| LI IIIIIII LI IIIIIII T IIIIIII T
1073 102 10! 109 10 10
Peariod, s

Depth, km

Depth, km

—
L]
[=)

1072

10

107

10!

10!

Report 16, appendices

L L IIIIIII L L IIIIIII L Ll L LIl
T T IIIIIII T T IIIIIII T LU
100 107 10° 10
Resistivity, £2m
L L IIIIIII L L IIIIIII L Ll L LIl
T T IIIIIII T T IIIIIII T LU
109 10! 102 10F

Hesistivity, £m



Report 16, appendices 35

Resistivity pge 22mM
=

Hesistivity pge M
=

dmt193

¥=1.6622

Shift=0.45

IIIIIII| T IIIIIII| T IIIIIIII T IIIIIIII T IIIIIIII T IIIIIIII T T TTTT
10% 10% 107! 100 10! 102 108
IIIIIII| L IIIIIII| L IIIIIIII L IIIIIIII L IIIIIIII L IIIIIIII Ll LLLLIL
IIIIIII| T IIIIIII| T IIIIIIII T IIIIIIII T IIIIIIII T IIIIIIII T T TTTT
103 402 10t 40 40 AE AR
Period, 8
¥=1.5183
L IIIIIII Ll L LIl Ll IIIIII| L IIIIIII| Ll IIIIII| L IIIIIIII L
Jtemao Shit=0.421 |

LA R L B R R R L) L e |
10-2 102 10! 107 10" 10
ol il el el il
-|||||||| LB L) B L) B N L R LR LI I R R RLLL | |-
10°2 102 10! 107 10" 10

Peariod, s

1072

10!

1072

10!

Lichoro

L L IIIIIII L L IIIIIII L Ll L LIl
i T T IIIIIII T T IIIIIII T T IIIIII_
100 107 10° 10
Resistivity, £2m
L L IIIIIII L L IIIIIII L Ll ULl
i T T IIIIIII T T IIIIIII T LU
109 10! 102 10F

Hesistivity, £m



Lichoro

Hesistivity pge 2mM
=

RHesistivity pge 22mM
=

36
¥=1.6426
IIIIIII| L L LLILLL L IIIIIIII L IIIIIIII 1 IIIIIIII 1 IIIIIIII Ll LLLLll
1em69 Shif1=0.438 |

ULRLELL B R ELLL B NS B BRI N R LLL B R RE L) |||||||
10°%  10= 107! 107 10 107 107
sl el el el sl el

IIIIIII| T IIIIIII| T IIIIIIII T IIIIIIII T IIIIIIII T IIIIIIII T T TTTT
10% 10% 107! 100 10! 102 108
Period, s
¥=2.1569
IIIIIIII Ll LLLLLL L IIIIIIII L IIIIIIII L IIIIIIII L IIIIIIII
{temeo Shitt=0.508 |
JE

1 Jig s Y a B
IIIIIIII T IIIIIII| T IIIIIIII 1 IIIIIIII T IIIIIII T IIIIIII

1073 102 107! 107 10 102
IIIIIIII L IIIIIII| L IIIIIIII L IIIIIIII Ll IIIIIII Ll IIIIIII
IIIIIIII T IIIIIII| T IIIIIIII 1 IIIIIIII T IIIIIII T IIIIIII

103 102 10! 1F 10 102

Period, s

102

10!

10!

Report 16, appendices

L L IIIIIII L IIIIIIII L Ll L LIl
’ T T IIIIIII T IIIIIIII T IIIIIII-
107 107 102 10
Resistivity, £m
L L IIIIIII L IIIIIIII L Lol L LIl
i T IIIIII| 1 IIIIIII| 1 IIIIIII_
10° 107 107 10

Resistivity, £m



Report 16, appendices 37 Lichoro

APPENDIX III: Additional iso-resistivity maps from the Olkaria Domes area
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FIGURE 1: Resistivity in the Domes area at 500 m a.s.l. according to joint 1-D inversion of TEM
and MT data; the blue (gray) stars show the drilled wells in Domes area while fault strucutres are
shown with irregular dark lines; elevation contours are seen in the background
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FIGURE 2: Resistivity in the Domes area at 3000 m b.s.1.
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FIGURE 3: Resistivity in the Domes area at 4000 m b.s.1.
|
'1000
I 562
316 __
178 &
100 &
g 56 >
% 9900 — - 32 'S
= 18 %
10 "o
QO
56 2
3.2
1.8
1
\ ‘ B ‘ ! ' ‘ ‘ ‘
200 205 210
Easting

FIGURE 4: Resistivity in the Domes area at 8000 m b.s.1.
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FIGURE 5: Resistivity in the Domes area at 10000 m b.s.1.

APPENDIX IV: Additional resistivity cross-sections from the Olkaria Domes area
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FIGURE 1: Locations of resistivity cross-sections in the Olkaria Domes area (black lines); red (dark)
dots show distribution of MT soundings, while the blue (gray) stars show locations of wells



Lichoro 40 Report 16, appendices

sw SWNE4 NE

m a.sl
==10000

3162
1000
562
316
178
100
56
32
18
10
5.6
3.2

— 1.8
s n
2000 - Pl |

0 5 km

dmi03 dmi78

dm1192

2000

FIGURE 2: Resistivity cross-section SWNE4; the vertical (colour) coded bars indicate
alteration mineralogy from nearby wells projected on the profile
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FIGURE 3: Resistivity cross-section SWNEG6; the vertical (colour) coded bars indicate
alteration mineralogy from nearby wells projected on the profile
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FIGURE 5: Resistivity cross-section NWSE3; the vertical (colour) coded bars indicate
alteration mineralogy from nearby wells projected on the profile
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FIGURE 6: Resistivity cross-section NWSE4
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FIGURE 7: Resistivity cross-section NWSES
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FIGURE 10: Resistivity cross-section SWNE1
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FIGURE 11: Resistivity cross-section SWNE2
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FIGURE 12: Resistivity cross-section SWNE3; the vertical (colour) coded bar indicates

alteration mineralogy from nearby wells projected on the profile
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FIGURE 13: Resistivity cross-section SWNES
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